| Efficiency vs Dxy |

.05
<

X0 e e o e e
e T e

Ea A
QOASE it H """" P
< e
@.04—----%------% ------- R St S ALY UL AR
ko) L
e A S A 0 S A
© : : : : : : : : :
[0 e e S A A S S A
T
002
OOL5f

.QJ-.l.Q:IIII.I|||.|||I.IIII.IIII:IIII.IIII.IIII.IIII.IIII
I 5
x L i

1__ ................................... " ....................................

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TT_base_noSel

| Efficiency vs Dz |

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03
0.02
0.01]

o+

30 20 -10 0 10 20 30

TP dz (cm)

—e— DQM_CKF_TT_retrainOldFiles113_noSel
—+— DQM_CKF_TT_retrainOldFiles125 v2 noSel




	Contents
	Page 1


